AT S irlr SN T i o S by et =

Ol @ wid bl SYIgw D S olgls pbig PG
Fogeil oy it p233l 4l by P
R2/1/8 :0loiel g5 185907 18 o jled
: 3wl 5 Lol 4390 Qe : Ol Do T o oslads
¥ amio Sl LA TS WK Jol cug :8bw! PG
0 03 03l s 93 45 g3 ol 38 1y Y (g Gl 3 38 Ol 3g0T (il 15 59Tk

[ (/0 Jlgms p2 03 )-8 i 1) 5 o Ao 1 ST g2 (3B (v p3— ]

[] Cowydl [JCow,d Cowl 3,8 633 ¥ g Caml oyl ol Sy o o (I

’ [] Cow 3l []Cow,yd - Conol Jof 30 ¥Y o5 ] il o8 30 VY 51 (o
[ w3l [ yd. ol 0))35 395 b il 2,135 12 (ali pad (@
[] Cawydl [JCmw,d Gl s ali SO coli il 2 (o
[ (/0 Jlgs 2 0, ) . 0w GBS 1) Cawlio iy 35 0o 8315 (b 4y 35 o 51— ¥ ]
S Cowl 0,135 0laS" Jolre ~ P=Q (b pd (5 8,155 duily Cuwyd ~ P g Cowydli 0,51 (I
Vb ~ pA~q(¥ pva(y ~pva(y pv~q ()
S Cowl Cowryd duinod 33 5B 8,135 51 S plaS (o
P A(pva)(Y (Pv~a)A(pva) (9
~(pAq)(f (PA~q)v(p=q) (¥
§ Cowl @IS b e o8 T wib F(B) = YF () — F(7) 1. Sl o1, f(X) = vx — ) mb (o
1(F —¥(v F(Y —Y()
g 1y 25 S 0,135 yaa Y
\ 23,15 4158 Luwl y3 oyl ! (I

ol 5 SagS Ve 1Y d0s (0

Wl M N el aib a6 S Toaat, 51-%

/0 t ={(-8,m"+1).(m, =), (-8,8).(-%.¥),(¥,n" = vn)}

5 wio cpl o L g o> A (g o 4l dald]




Pl

Y axio : Slgls olg o Y lgus o]

S oy Ty 595 850 R (w20 b (Sl pd ¢ (615 p3,) Jgua 3l ool b -0

f _
pvicpagl =pve ) (PA~ @V (p=q)=T
g 1y 925 6 (65, o2 Oloa ¢ J9dZ vy 9 il lgSdd 0,155 T g Cuwyd [ g Cawydl P S1-F
) [(gv~r)=pl=?
Y
=) [(~q=p)=(q@=p)]=?
) 1 B ; _ax' +bx+c-v )
Vo ] ot 1,8,0,C L sl iles g6 Sy T (X) = N &b 51—y
Vo § Col olsS M il el @b 6 T (X)=(rm—1)x+mx—v 51-A
&l ey
‘l ¥
-7 *r* & *

T+ yu—v<=sx<-

.Jg,,ic’awbd.gl)f(_‘\/{ﬂ+f(Tijl>f(XJ::T P =X <Y Sy

xX—1\ ; XxX=v

V¥

g 1y of 3, 9 aeld WS o, 1, F(X) = sign (x) &b Jagei—))




